En SUN CONTROL

AMERICAN C AN O PY

PRODUCTS, INC.

INSTALLATION INSTRUCTIONS

13909 Lynmar Boulevard | Tampa, FL 33626 | 813.925.0144 | www.americanproducts.com




En SUN CONTROL

AMERICAN C AN O PY

PRODUCTS, INC.

TABLE OF CONTENTS

PARTS DESCRIPTION
Canopy Members and ACCESSOMES . . ..o vttt e Page 1
CANOPY ASSEMBLY
Attach Canopy toWall . ... Page 2- 4
Apply Sealanttfo Frame . ... ... Page 4
Attach Light Strip Under Face of Canopy ..o Page 5
NOTE:

DRAWINGS NOT SHOWN TO SCALE
UNLESS OTHERWISE NOTED.

13909 Lynmar Boulevard | Tampa, FL 33626 | 813.925.0144 | www.americanproducts.com

i | Installation Manual | Aug-13



SUN CONTROL

A

AMERICAN C AN O PY

PRODUCTS, INC.

PARTS LIST

. s

col—

f

.
I
L

PART # PART # PART
6" GUTTER BEAM (STANDARD) 8" GUTTER BEAM (OPTIONAL) SELF—MATING DECKING

T

’ T

L i ]

] ) \ ] 1
“* 3 4’) F 2 *) \ 7 \ 8
PART # PART # PART #

3"x3" HSS 2"x2" STIFFENER TUBE 7" FLAT PLATE

| T

PART # PART #
#14 316 SS SHEET METAL SCREW #10 316 SS SMS OR SDS
WTH #5/8" WASHER WITH NEOPRENE WASHER

13909 Lynmar Boulevard | Tampa, FL 33626 | 813.925.0144 | www.americanproducts.com

1| Installation Manual | Aug-13


AutoCAD SHX Text
PART # 6" GUTTER BEAM (STANDARD)

AutoCAD SHX Text
PART # 8" GUTTER BEAM (OPTIONAL)

AutoCAD SHX Text
PART # SELF-MATING DECKING

AutoCAD SHX Text
PART # 3"x3" HSS

AutoCAD SHX Text
PART # 2"x2" STIFFENER TUBE

AutoCAD SHX Text
PART # #14 316 SS SHEET METAL SCREW WITH  5/8" WASHER

AutoCAD SHX Text
PART # #10 316 SS SMS OR SDS WITH NEOPRENE WASHER 

AutoCAD SHX Text
PART # 7" FLAT PLATE

AutoCAD SHX Text
4"

AutoCAD SHX Text
2 "34"

AutoCAD SHX Text
6"

AutoCAD SHX Text
1"

AutoCAD SHX Text
18"

AutoCAD SHX Text
4"

AutoCAD SHX Text
4 "34"

AutoCAD SHX Text
8"

AutoCAD SHX Text
1"

AutoCAD SHX Text
1"

AutoCAD SHX Text
6"

AutoCAD SHX Text
3"

AutoCAD SHX Text
3"

AutoCAD SHX Text
3"

AutoCAD SHX Text
2"

AutoCAD SHX Text
2"

AutoCAD SHX Text
7"

AutoCAD SHX Text
18"


SUN CONTROL

A

AMERICAN C AN O PY

PRODUCTS, INC.

STEP 1:

PROCEDURES:

e Identify on the wall of the structure (2) 3" x 3" x 1/4" HSS.

e Ensure 3" x 3" x 1/4" HSS tubes are square, and level.

e Ensure 3" x 3" x 1/4" HSS tubes line up with square slots provided in back of
canopy. See DETAIL 2.

e Slide canopy over tubes until canopy meefts flush with the wall.

\ S—

13909 Lynmar Boulevard | Tampa, FL 33626 | 813.925.0144 | www.americanproducts.com
2 | Installation Manual | Aug-13



AutoCAD SHX Text
3"x3"x " HSS14" HSS

AutoCAD SHX Text
3 "14"


SUN CONTROL

A

AMERICAN C AN O PY

PRODUCTS, INC.

STEP 2:
PROCEDURES:

e With canopy tight to the wall, place the 7" aluminum plate provided in crate
with canopy, covering both the HSS and Aluminum tube.
(see DETAIL 3)

e Equally space #14 316 SS Sheet Metal Screws on centerline (10" Max.) of both
tubes applying them through the plate first.
(see DETAIL 4)

#14 316 SS SHEET METAL SCREWS
WITH %" MIN. WASHER @ 10" O.C.

7"x)," ALUMINUM PLATE
2"x2"x}4" ALUMINUM

3°x3"x)," HSS

| RS ]

DETAIL 3

. EQ. £Q. EQ. EQ. EQ. EQ. .
5 # (10" MAX.) T (10" MAX.) T (10" MAX.) T (10" MAX.) T (10" MAX.) T (10" MAX.) T 5
1 T

) 1 f T 1

DETAIL 4

13909 Lynmar Boulevard | Tampa, FL 33626 | 813.925.0144 | www.americanproducts.com
3 | Installation Manual | Aug-13



AutoCAD SHX Text
3"x3"x " HSS14" HSS

AutoCAD SHX Text
2"x2"x " ALUMINUM14" ALUMINUM

AutoCAD SHX Text
7"x " ALUMINUM PLATE14" ALUMINUM PLATE

AutoCAD SHX Text
#14 316 SS SHEET METAL SCREWS WITH  58" MIN. WASHER @ 10" O.C.

AutoCAD SHX Text
5"

AutoCAD SHX Text
EQ. (10" MAX.)

AutoCAD SHX Text
EQ. (10" MAX.)

AutoCAD SHX Text
EQ. (10" MAX.)

AutoCAD SHX Text
EQ. (10" MAX.)

AutoCAD SHX Text
EQ. (10" MAX.)

AutoCAD SHX Text
EQ. (10" MAX.)

AutoCAD SHX Text
5"


SUN CONTROL

A

AMERICAN C AN O PY

PRODUCTS, INC.

STEP 3
PROCEDURES:
e Screw in #14 SAE GR. 5 hardware into wall.

e Confractor to ensure waterproofing per
waterproofing manufacturers recommended

increments.
STEEL TUBE (BY OTHERS)
1" BUTYL TAPE TO RUN AROUND PERIMETER OF BACK GUTTER
GUTTER ANCHORED WITH #14 SAE. GR. 5 MINIMUM SMS OR SDS
- 74 - L1
7|
STV \S/
|Z
N

1" BUTYL TAPE TO RUN AROUND PERIMETER OF BACK GUTTER

DETAIL 5

13909 Lynmar Boulevard | Tampa, FL 33626 | 813.925.0144 | www.americanproducts.com
4 | Installation Manual | Aug-13



AutoCAD SHX Text
STEEL TUBE (BY OTHERS)

AutoCAD SHX Text
1" BUTYL TAPE TO RUN AROUND PERIMETER OF BACK GUTTER

AutoCAD SHX Text
GUTTER ANCHORED WITH #14 SAE. GR. 5 MINIMUM SMS OR SDS

AutoCAD SHX Text
1" BUTYL TAPE TO RUN AROUND PERIMETER OF BACK GUTTER


mn SUN CONTROL

AMERICAN C AN O PY

PRODUCTS, INC.

STEP 4

(OPTIONAL)

PROCEDURES:

e When lighting is added (by others), a galvanized @5/8" pipe is placed in the
gutter from the back of the canopy to the face of the canopy on the bottom

side as a wire feed.
e Remove #10 machine screw allowing the 1'x5" angle to expose light fixture

installation cavity.

=T

CLkl

13909 Lynmar Boulevard | Tampa, FL 33626 | 813.925.0144 | www.americanproducts.com
5 | Installation Manual | Aug-13




	Sheets and Views
	API - Installation Manual - Canopy 8-13-24-C
	API - Installation Manual - Canopy 8-13-24-i
	API - Installation Manual - Canopy 8-13-24-1
	API - Installation Manual - Canopy 8-13-24-2
	API - Installation Manual - Canopy 8-13-24-3
	API - Installation Manual - Canopy 8-13-24-4
	API - Installation Manual - Canopy 8-13-24-5


